Kutz Software - Infiniie Pre-Algebra Name

Evaluating Vanable Expressions Dake

Evalunte gnch vsing the values given
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Simplifying Vanable Expressions
Simiplily ench expression.
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Kuta Softwar - Infinite Pre-Algebra
Multi-Step Equations

Solve each equation.
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Two-Step Equations With Integers

Solve each equation
r
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Solving Two-5tep Inequalities Date

Solve each ineguality and graph ifs solubion.
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Graphing Lines Date

Sketch the graph of each line.
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Slope
Find the slope of each lime.
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Find the sdope of the line through each pair of points.

9) (8.10). (-7. 14)
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11) {20, —4), (12, -10)
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15) {-18, -20). (-18, —15)
Undafined

Find the slope of each lime.
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Vi eh Idenitfying Slope
ek T

Types
ANSWER KEY

[[:%!I:' Write the type of slope in each graph: positive, negative, zero,or undefined,
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